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Note: This question papercontains two parts A and B.

2.a) Explain (i) Impulse sampling.and (ii) Natural sampling.
b) Describe and illustrate delta modulation and its quantization error.

Part A is compulsory which caries 25 marks. Answer all questions io Part A. Part B
oonsiet*.gf 5 UniF;"$.nsw..Er any oFe-fi.ilFquestion fircm oaeh unit. Eaeh queation carries :----

Py?,r1.*omq,rrhiaefbassu$$eiq'. Lj r-i .,y,L.,; {j -"-
" PART-A 6 

(25 Marks)

Lzl
13I

irilr
[31".-r
t2t
t3l
t21
t3I
lzl
,rflj

Why is pre-filtering done before sampling?
What is slooe overload? How it is reduced?

ffitifpbd,remffi,ffitq*. Fi l;;:,^ ..ti ri fi i;i{ff"hat iseyclic code.add tist the prnpedtiegof cyclic.,psdes;i L.,",j i ',
Discuss about digital subscriber lines.
List the interferences made from the eye pattern.
How can BER of a system be improved?
Distinguish coherent and non-coherent reception.
What is Processing Gain?
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b) A delta modulator with a {ixed step size of 0.75V, is given a sinusoidal message signal.
if the sampling frequency is 30 times the nyquist rate, determine the maximum
permissible amplitude of the message signal if slope overload is to be avoided. [5+5]

Writes short notes on: i) Entropy ii) Mutual'information.
Explain about Information Capacity Theorem.
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Sxplain .the propresIi.ps,ofnlyndrome. .
$+{ldinShannel go{ng_t}eorem. } ( i_ "i
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What is matched filter? Derive the expression for the impulse response of a matchsd
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filter.
Explain correlative coding in detail.
,.'jl ", .": - ,.".On ..,,,,

Djicussot out G ra# i schm idt orth$ona lization pro'6eduie. .

Write short notes on Eye pattem and Inter symbol interference.

Derive the probability of error for PSK.
Explain the principle of DPSK system with the help of suitable circuit. Is+sI

OR
Eescfibe,with diagram-s-the generatiou and detection-of ceherent binary FSK. ,-".., i""'

eoinpare the perfdrnrance of viri6ul obherent .arill ;non-coherent'digital deteciion, ,.--,,;l

systems. t5+5J

Describe about generation of PN sequence and its properties.10.a)
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Discuss about synchronization in spread spectrum.
OR

W-i{h.necessary diagram.qxplain d!.r.e.gt sequenae spqead spe.ctrum. :.--...,
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